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Question ID:- 1

DWINDLE

Choose the word similar in meaning to the one given above.
(1) Fight

(2) Work

(3) Abate

(4) Enlarge
Options:-

=1, OptionID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

SCORNFUL
Choose the word opposite in meaning to the one given above.
(1) Courteous

(2) Brash

(3) Stormy

(4) Heavenly
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3




Identify the part of speech of the underlined word in the following sentence.

We are keen to go on a vacation.

(1) Noun
(2) Pronoun
(3) Verb

(4) Adjective

Options:-

=1, Option ID :- 9,

= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

I have always liked you.

Choose the option in which the above sentence has been correctly putinto Passive Voice.
(1)  You have been liked always by me.

(2) You had been liked by me.

(3)  You have always been liked by me.

(4) You have been always liked by me.

Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
= 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Ramneek will say, “I.am going to Gulmarg.”

Choose the option in'which the above sentence has been changed into Indirect narration.
(I) Ramneek will say that he is going to Gulmarg.

(2) Ramneek will say that he was going to Gulmarg.

(3) Ramneek will tell that he will be going to Gulmarg.

(4) Ramneek tells that he would be going to Gulmarg.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
=« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17




Question ID:- 6

I[dentify the part of the following sentence which has an error.

Neither Ram nor Sham were present in the office.

(a) (b) ©) (d)
1 (@
2 (9
(3) (b)
4) (@
Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
= 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Choose the option in which the following words/ phrases have been rearranged to form a meaningful
and grammatically correct sentence.

(A) cut his

(B) a knife

(C) hand

(D) the boy

(E) with

(1) (&) (©) (B) (D) (E)
2 (B) (D) (A) E)©)
(3 (D) (&) (© (E) (B)
4 (© (E) B) (D) (A)
Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8




Fill in the blank in the following sentence.

Two days ago Ram along with Sham _~~ present here.
(1) were

(2) have been

(3) has been

(4) was
Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9

Fill in the blank in the following sentence.

Dogs have antipathy __ cats.
() to

(2) with

(3) for

(4 on

Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Fill in the blank in the following sentence.

Latika is very indulgent her child.
(1) to

(2) on

(3) with

(4) for

Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PRT25FEBSH2




Question ID:- 11

A1 fou, 710 e B e IER Ffa WA w1 gaitte 3fed fasey w1 99 wife -

S H= 73T W RIS HeAT H G0 o Heh aU IH Y SN Y1 UHHIH Thdod HHII-UH JFh! oh |1l i Hd
W@ | 3% S[A &, Tfaa A T AW AN 67 HA o < | IR el R & 48 F1d §Ql &9 f5f )

TS T P W E -

(1) ¥R 1 fawr

(2) N T HA

(3) SH-SRY & G&d

(4) TR B A
Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

9 feu T e w1 UgE IHW RT weH @1 gaitteh S fawen 1 95 Fifee -

S §= %34 4 WA FHEAT Sl od of e a1 I &l o YA THHH Hdod §H3-TH TIH! o | H1d Hd
W@ I A H, Tfea FHU T STH AT HIHA e ol | WA gaeh W & 48 Fd Hq wY F fAsi ¥

R 7% & gasl & FawEHd ¢ ?
(1) St 9T % FTAT H TN AR &
() Sy qepfa i faedr ed €
(3) S uRA % U * fow wfowg €
(4) St 279 FdT I W A §
Options:-

=1, Option ID :- 45,

= 2, Option ID :- 46,

= 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13




19 feu 7 TEiw B vew SHW IR WA % qaltus 3fed fawes w1 999 SR -

N 9= TGA H W ST 1 od o Heh a1 39 81 S AT UHHTH o] FHE-TH JFH oh HIY 1A Hd
@I 3= ST 1, Tfea HA q21 ST A0 1 W3l Yo &1 | 9RATT gashl W § 78 H 9q0f &9 & R )

YRS e F AT €T § -
(1) FFl H Agd, Ffeq HE
(2) FaF =1 fafed, S w
(3) FaH I Hiifed, Hem SHA1
(4) 4T T G&H, S SAHT

Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14

A9 feu 7o Ty i Yel IR ARG WA 1 Faituh 3fa. fawey #1999 Sifeg -

S 9= %A | WY HeArl shl od o Heb a1 39 ©F S YA THHH haod THI-TH JFH oh 1Y 1A Hid
@I 32 A U, Ff3A FJ q21 STH AW 1 §3l Ygh of | RAF gahl W & 76 Hd g0 &9 & iR 8

YA ekl &l Uah HEAYUl 994 § -

(1) fafea s

(2) T HEA

(3) oE FEW @Al

(4) T FA
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,
= 4, Option ID :- 56,

Answer Given:- 4, Option ID : -56

Question ID:- 15




= fau T Y 1 YgER SHW YR W w1 waitue i fase 1 = S -

S 9= TGA H WIdIT Hedr 1 od o Heh 91 39 81 S AT THHTH o] FHE-TH FH oh HIY A Hd
@I 3= ST 1, Tfea HA q21 ST AN 1 W3l o &1 | ARATT gashl W § 78 H g w9 & iR ¥

‘Hrfed’ U H UTT ® -
(1)
2
3
(4)

foa
Td
<d
3d

Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

THY-Gg9T 1 H7Td 7 § -

(1) wH-&
(2) Te-uifYy
(3) FIS-He
O
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

‘e’ T yATEErE g e € -

(1) fafeg
(2) TAfr=
(3) fa

(4) =49




Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,
= 4, Option ID :- 68,

Answer Given:- 2, Option ID :

-66

Question ID:- 18

1) Wrired

(

(

(3) HIg+<A
(4) Wg+3
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,

Answer Given:- 4, Option ID :

Question ID:- 19

Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,
= 4, Option ID :- 76,

Answer Given:- 1, Option ID :

-73

Question ID:- 20




‘“of % fau Jie W e )’ g Taifed s9 H s R § -

(1) U HH
(2) 3UA FH
(3) YA FH
(4) He9¥ HRH
Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PRT25FEBSH2

Question ID:- 21

Consider the following statements concerning ‘Water Heroes: Share Your stories contest ?

(A) The scheme was launched by the Department of Water Resources, River Development and
Ganga Rejuvenatien and Ministry of Jal Shakti.

(B) The contest is held every six months.

(C) The participants are required to post their success'stories on water conservation efforts in the
form of 1-5 minute video, along with a write up ‘of 300 words.

Choose the correct answer from the code given below.
(1) (A)and (C) only

(2) (A)and (B) only

(3) (B) and (C) only

(4) (A) only

‘T RS I AR Wi w3 % Hey § fefafad wA w faer fifse)

(A) T ASH I HgGreE, 761 fasrg i wm geem faym, ik S vfE daea gr ¥ 1 g ot

(B) ¥ wiaAfiral & =% \re § syaifsd 1 9l ®)

() wfaafmEl =t Sia Sew 93 W S Hwerdl ) Sl 1 1-5 R & fafed & aream | 300 =
% TG & Y TR FA I TG Al ¢ )

= feu U s Q WE IW FH1 994 Hifew )

() e (4) 3 (Q)

(2) a9 (A) 3R (B)

(3) e (B) K ()

(4) IS (A)

Options:-
=1, Option ID :- 81,




= 2, Option ID :- 82,
= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which book/ title was awarded the Bal Sahitya Puraskar, 2022 in Kashmiri language by the Sahitya
Akademi ?

(1) Vatne Gur

(2) Daiel

(3) Zoon Monj

(4) Khudayes Hawali

Aifed I g HIHR 9§ ay 2022 F A TR JEHR fhd T/ S werd faa T ?

(1) e R
(2) srEd

(3) AU
(4) WY el
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Who won the Rashtriya Khel Protsahan Puraskar 2022 under the category ‘Identification and
Nurturing of Budding and Young Talent’

(1) Steel Authority of India

(2) Trans stadia Enterprises Private Limited
(3) Services Sports Control Board

(4) Tata Steel




‘IEAaH 3R gan gfaw Y vgEE 3k 3% fawfaa s (sngfefwseA de Fwiin ofw afgegn v a0
ei2) Al & SHatd a9 2022 1 AL @ Weded gL fhga offar ?

(1) e A& i fean

(2 i Rfew Twrss e fafaee

(3) HfeEs wWidy sida are

(4) T

Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Who won the Presidential election in Kenya which was held in August 2022 ?
(1) George Wajackoyah

(2) David Mwaure

(3) Raila Odinga

(4) William Ruto

3T, 2022 9 =1 H ¢ Ul g H A fasEl @1 2

(1) S SRR

(2) <Sfag marp

(3) e Afem

(4) fafeas wd
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

Which decade is/was declared as the ‘“UN Decade of Ocean Science for sustainable
Development ?

(1) 2001-2010
(2)  1991-2000
(3) 2011-2020
(4) 2021-2030




fory qoe 1 9w T 999 fawm & fau ggrrr fagm oo (v fede o AfEm 9w Wi
geded eaayde) =ifd fear man ?

(1) 2001 - 2010

(2) 1991 - 2000

(3) 2011 - 2020

(4) 2021 - 2030

Options:-

=1, Option ID :- 97,

= 2, Option ID :- 98,

= 3, Option ID :- 99,

= 4, Option ID :- 100,

Answer Given:- 1, Option ID : -97

Question ID:- 26

What is the role of Saliva in the digestion of food ?

(1) It breaks down fats into fatty acids and glycerol.
(2) It breaks down the starch into Sugars.

(3) It breaks down proteins into  aine acids.

(4) It break down complex Sugars into simple Sugars.

IS & U4 H R & #1 Yfim 8 ?
(1) =% a9 1 et ufge o ranzfada o dear ®)
(2) d% @rE ® vy o dgar 2|

)
(3) ¥ WA ! vfuA ufie | drem 7
() T% "fYew TR I QRO T § Jedl

Options:-

=1, Option ID :- 101,

= 2, Option ID :- 102,

= 3, Option ID :- 103,

= 4, Option ID :- 104,

Answer Given:- 2, Option ID : -102

Question ID:- 27



Who among the following leaders was defeated in the “Battle of Waterloo” in 1815 ?
(1) Czar Alexander

(2) Charles II

(3) Napoleon Bonaparte

(4) Henry IV

oY 1815 ¥ ‘G % 48’ W oy Ad % weE g3 o ?

(1) SR TAdsiel

(2) JHI

(3) e s

(4) A IV
Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Which of the following has not been guaranteed as a justiciable right under Part III the Indian
Constitution ?

(1) Protection from being punished for the same offence twice.
(2) Equality of opportunity in matters of public employment.
(3) Equal pay for equal work.

(4) Protection of personal liberty:

YR % GiauE & 9 {9 % Sdtd T i SfER % w9 § feus) T T8 4 E 22
(1) TS & AR $ fow & I) <fed fHu oM 8§ Heqm
(2) e TS S SWal § ATH 1 qHEA
(3) HAF &M & fag B a4
(4) ek wdFdr A HET
Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
» 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111




Question ID:- 29

Which of the following states in India has the highest percentage of households using clean fuel for
cooking according to the National Family Health Survey 2019-21 ?

(1) Telangana

(2) Tamil Nadu

(3) Andhra Pradesh
(4) Gujarat

g yRER @ e, 2019-21 % FTER YRd & fH7 19 % IRl gR1 @5 §49 H 940 Hd &
yfqera gaifus &2

(1) FeaE
(2) dfmag
(3)  TUHH
(4) To@
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

“Bewar’, ‘Podu’, “Pahiya’ are Indian names of which form of cultivation ?
(1) Slash and Buin Agriculture

(2) Terrace Farming

(3) Agro forestry

(4) Livestock farming

I, g, ‘arfean w@dt % oW R & ad A 2 2
(1) e iR S gt (e ig 9+ )

(2) HIdRR wdt

(3) iy At

(4) TYuA wd

Options:-
=1, Option ID :- 117,
= 2, Option ID :- 118,




= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT25FEBSH2

Question ID:- 31

In the following number sequence, find out how many times '7, 5 and 3" have appeared together in
the same order ?

PR FS 373 ZE3 72787V BFE S

() 4
2 5
3 3
4 2

frefafes den w9 1 28 34 Fifse fF /7, 5 3wy’ faat ar vy =8t e d o €2
3 7537575 3 7 _SeftebedeZabed

~g

1)
2

hE

7
4
5

4 2

—~ o~ o~ o~

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
=« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

Ankit starts from his house and walks 40 metres in north - west. He then turns and walks
40 metres in north -east. He again turns and walks 40 metres in south - east and finally he turns
again towards his house. In which derection is he now moving ?

(1) South
(2) West
(3) East

(4) South-west




3iferd 31U R T I § 3R IW-ufeay FT SR 40 W = €1 R 3% oar € ot Sw-gd #) 36R
40 HT I &1 9 fR o § oIk <fo-qd B 40 Hiex wear § oIk oig § 31uq W 1 3R YHa1 ¥ ) o
wrg ey s y?

(1) <fEm

(2 dREm

3

4) <fyo-gi=m
Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

A, B,C D, E F, G and H are sitting around a circle at an equal distance facing the centre of the
circle. There are two persons between ‘I and ‘H’. ‘G’ is immediate neighbour of neither ‘A’ nor
‘B’. B sits third to the left of “A”. “A’ sits second to the left of ‘H'. ‘D’ sits second to the left of ‘G’. ‘E’
and ‘F’ are neighbours. Who is sitting immediate right of ‘G’?

() C
2) D
3) E
(4 F

A,B,C,D,EF,G 3R H U g0 F IR R 0% $= & SR e a9 g0 Was 1 FilR‘H F
NaQ AF S ‘G A A’ SRA R ‘B = ey S &1 B, A’ F 9l AR AT T 9 S ¥
‘A, H S T oR g WH TSR DY, ‘G Ol SR g W W SEI ¥ E SR v )
‘G’ % UhcH ST 3R HiAoeT & ?

1) C
(2 D
(3 E
(4) F
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34




Given below is a question followed by two statemens numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: Suman ranks 39" from the bottom in a class. What is her rank from the top ?
(I) : Rajan ranks 12th from the top and 34th from the bottom in the same class.
(IT) : There are 45 students in the class.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Either statement (I) or (II) alone are sufficient to answer the question.
(4) Both the statement (I) and (II) together are necessary to answer the question.

9w A e e § fowE 9 @ wem 1R I feu 7o & A9 @ v d % 9 T R e
fvig FifSu fh F19-91/9 H99 799 51 IW A & fau gaig 3/

g: oA 1 FHETH A9 G 3991 ik T IHH FHATH PN ?
HI(): TR A FA T SRA 126 9o =9 & 34 91 & 7
HAA (I1) : FRTH458H 2|

(1) A (I) 1A WA $1 IH A > 0L waig § Fafeh e (11) 37l vaia 781 21
(2) A (II) FH TLH F1 T o4 & a0 vaie 8 Fafd HweM (1) Fohe! waia T €
(3) THEA (1) YA (I1) 37hel W¥A 1 I XA o foT8 9w § |

(4) YA (1) R (11), AT THAR YT T I . oh o1, STEYTH € |

Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35




In the diagram given below, circle H represents honest, circle I represents intelligent, circle O
represents optimisti and circle P r presents punctual persons.

%
O
How many are punctual, optimistic and honest but not intelligent ?
1 2
(2) 3
3 5
4 7

i feu U smE ¥, g9 ‘H 3HHAER #, 99 T §f§9H, 97 ‘O’ @ 91 g9 ‘P gnafis Sl &
yfafafiea e )

0
o =af gmafas, e iR doMeR € fohg fgam &1 § 2
(1 2
2 3
3 5
4) 7
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
= 3, Option ID :- 139,
= 4, Option ID :- 140,



Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT25FEBSH2

Question ID:- 36

A user communicates with a computer with the help of :
(1) Software

(2) Input devices

(3) Output devices

(4) Input and Output devices

UH R HEEd ¥ el § HREYl I E
(1) EiREW

(2) Y fearH

(3) =2y feanH

(4 Y 3R TR feara

Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

RAM stands for :

(I) Read Active Memory

(2) Read Access Memory
(3) Random Active Memory
(4) Random Access Memory

T (RAM) &I 39 §

(1) Read Active Memory
(2) Read Access Memory
(3) Random Active Memory
(4) Random Access Memory




Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

Wahich of the following software you preferred most to design a multimedia presentation to explain
some concepts of your courseware with the help of some images, audio and videos ?

(1) Microsoft Edge
(2) Microsoft Excel
(3) Microsoft Team
(4) Microsoft Power Point

YA YIS Fl S Hheddl ol FS 30, Hife R Sifsd =1 e 4 &= F:1 &g UH HedHifgn
&fd 517 % faw s 13§ digeam &l Faffrs gerfgsd <7 2

(1) WIEhRER T

(2) HIEHHR WA

(3)

Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39

A computer program that copies or replicates itself across network or internet is called :
(1) Spam

(2) Worms

(3) Anh-Virus

(4) Trojan Horses




T UL 9T S Aead W ST W Y H1 3IFH TR Al B, PN FHAm! ¢ ?
(1) M (Spam)

(2) any (Worms)

(3) Ul AH (Anti-Virus)

(4) ISH Y (Trojan Horses)
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
=« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Identify the type of network, when two or more branches of a school society, situated within same
city, are connected together using optical fibre to share some data and information ?

(1) PAN

(2) LAN
(3) MAN
(4) WAN

& Ueh ¥ AR Ferd U wohdd HiarEd & Q) 3138y i ymEnsil 1 F9 2 iR R 9iEn wE
e stifiewel W &) Gerd @ 39d § Siel adl & o fH9 T9R & 32« o1 ¢ ?

(1) 4 TTA (PAN)

(2) TE U (LAN)

(3) THTTUA (MAN)

(4) T TTT (WAN)

Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
= 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PRT25FEBSH2

Question ID:- 41




Which one of the following plays a major role in learning of the child ?
(1) Growth

(2) Development

(3) Maturation

(4) Emotion

1A% F e § feifend § 9 fras) yg@ ot @ 32

(1) dfs

2) fa=wm

(3) uftasE

4) Xam
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

Normally cognitive development occurs at which age of the child ?
(1) 0O-6 years

(2) 12- 18 years

(3) 6-12years

(4) 15-20 years

HE=d: s 3 HFAeAS famm, Feifed 3 4 g ga-ai 3 s g ?

(1) 0Head
(2) 12 %18 9
(3) 6% 129
(4) 1532099
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166




Question ID:- 43

The ‘Thinking’ part of child’s development comes under :
(1) Physical domain

(2) Cognitive domain

(3) Emotional domain

(4) Social domain

qAF F FaFE o o997’ vy, F=ifeg 9 @ fger siqeiq oqmar &2

(1) iR &

(2) EIERES &7

(3) TaMHS HH

(4) e &
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,
= 4, Option ID :- 172,

Answer Given:- 2, Option ID : -170

Question ID:- 44

The Body’s reaction to facial expression weuld be included in :
(1) Cognitive domain

(2) Physical domain

(3) Communicative domain

(4) Socio - emotional domain

B H TI- 9 W IR F AR, Fifra § @ frwd siwiq wfwfad g ?
(1) HAHHF &

2 wiRE &=

(3) «I9U &3

(4) wmfSR-HameTR A

Options:-

=1, Option ID :- 173,
= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176




Question ID:- 45

Which one of the following could be stronger need among ‘Adolescents’ ?
(1) Physical need

(2) Social and Emotional needs

(3) Belonging

(4) Discipline

foroid § famifed § 9 o1 Yoo SawHd & ?
(1) vifw AEvEsd
(2) Hraifee T G AFEH

(3) HreEEAr
(4) HTEA
Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
= 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Now a days which one of the following abnormal trait normally seen in adolescent youth in
schools ?

(1) Violent behaviour

(2) Less eating

(3) Untimely eating
(

4) Disrespect to elders

& fei wrr=ra el | fhvik gaan § 68 UR 1 SIEm=a oad i fyerd | 2
(1) fea=s =R

(2) 3Tc9 SiSH UM HIA H1 AY

(3) HHHA S HEW

(4) 99 % 9 R & ae




Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

What the schools should do to address Juvenile problems ?
(1) Frequent conduct of sports and games

(2) Listen to them carefully

(3) Give them responsibility

(4) Arranging regular professional counselling in schools

forenuaen & gH=ned & Farw g fasnea & @& s afwy ?
(1) We-he Skl a1 Fid TEEH

(2) O = 1 A &\ 4 A

(3) 3= IJu@ifaE divA

(4) feeradi § frafaa IR w sawfas /e #1 Faeer s

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

What is the role of family in educating the child ?
(1) Imparting values

(2) To ensure-balanced diet

(3) To buy adequate numbers of books

(4) To ensure attendance in school

e ) ffed w3 B ufar =) # yfye el 82
) H w1 foren weE

2) H{fad mer gHfv=Ea s

) YU Hen # gEh @dR

4) TFerarerm ¥ Iufafa giaf=a e




Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Which one of the following would be good example of extended learning of the child ?
(1) Completing the written work at home.

(2) Completion of reading of para at home.

(3) Homework given by the teacher on life situation.

(4)  Project work.

Fr=iferd ¥ Q F1 denl & fag fearfa fasn =51 399 et & gha1 & 2
(1) @ W oEd Fd g0 HE1

(2) B W H v FH [ KA
(3) e H suHareh wiferfadi & Hey § stomys grr diu T e
(4) ofds HE

Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Who should bridge the home and school ?
(1) School

(2) Home

(3) Community

(4) Parents




fr=ifera 5 9 68 7 IR fouea & 991 g =1 & e 9feu ?

(1) Teaeam

(2 '

(3) ¥

(4) H@-foar
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

Why only the school is considered for learning centre ?

(1)  All qualified teachers are available.

(2) Resources are available for learning.

(3) Financial resources are provided in school.

(4) The required learning and socializing parameters aré.available only in school.

frifera § | fohm wnviay Sad faamed i € afEm s 9 1 S & ?

(1) | T HeTs Y= 8id 3 |

(2) frm & foe o syas & 2

(3) faenaa A fodty Game Syo g @ €

(4) oTifea-tfuy wd wEiew & HURS dhad faenad § & Suas g9 7

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

Which one of the following is the characteristic feature of development task ?
(1)  Acquiring psycho motor skills at appropriate age.

(2) Development of values as the child grows

(3) Enhance learning levels in school.

(4) Socialization level increases.




Freifera § | 1 faswmens a1 =) afuensfire fadoa €2
(1) 3ITH Y H G0 e F a6

2) A b FG W AN Hedl i fard

3) feaerea ¥ aftrm & W W gfg

4) TIHSIHT W TEd L

Options:-
=1, Option ID :- 205,
= 2, Option ID :- 206,

= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

Increasing height and weight of the child comes under :
(1) Physical growth

(2) Emotional growth

(3) Cognitive growth

(4) Social growth

Tcish i AoE 3R 3HF a9 § gfg Feifea 3 & fras | e 82

(1) wifi=w gfg

(2) Hameaw 3fg

(3) HYERHT gfg

(4) wHfses gfg
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

Regular participation of social workers and parents in school programmes often termed as :
(1) Family - students connectivity

(2) Social connection

(3) Home - School continuity

(4) Family - Teacher connectivity




faenas & wrdwdl | wmfes sriwatsdl IR amd-faar & fFafa gewfie 1 R #0181 a8 2
(1) oiEr-faenedi Sy«

(2) wrHfsw doy

(3) Te-faznem gy

(4) YER-3I9sh GHaddl

Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55

The power of imagination is normally higher in :
(1) Child

(2) Adolescents

(3) Adult

(4) Senior atizen

g fiferd § 9 fod semmmifs 3= 2 82

(1) oTAD

(2) fouR

(3) T

(4 =fRgarR®
Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT25FEBSH2

Question ID:- 56




The principle of positive reinforcement in learning mentioned by Thorndike is
(1) Law of Effect

(2) Law of Trial and Error

(3) Law of Readiness

(4) Law of Exercise

e & SIER At H gHEES YAdad #1 fasid 1 HEa ¢ ?

(1) wyE {738

(2) WA 3R e+ Fam

(3) R 1 fIw

(4) A 1 fEH
Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57

Which one of the following is one of the principles of learning ?
(1) Aptitude

(2) Motivation

(3) Attitude

(4) Interest

frifera 3 | & ey o fagia €7
(1) FfyEfq
(2) iRy
(3) gl
(4 wf=
Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,
= 4, Option ID :- 228,




Answer Given:- 2, Option ID : -226

Question ID:- 58

The basic Principle of constructive learning is

(1) Integrated learning

2)  The learner builds new knowledge upon foundation of previous learning
3)  Diversity

4) Convergence

(
(
(

TS ATH 1 gE i §

(1) whiFa afeer

(2) sftrrasRdl 9o i &) Fia o swem W T 71 fAfda F
3) fafauar

4) i
Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,
= 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

‘Practice makes man perfect’ is apt for
(1) Law of Readiness

(2) Law of Exercise

(3) Law of Motivation

(4) Law of Effect

‘s1vrg It H qufan o 7 a1 Fea feifea § 4 fews fan sug €7
(1) dR’d = fam

(2)  HIH H fEm

(3) w1 fAam

(4) worE = fEm

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,



= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

What is the significance of ‘Feedback’ system in classroom ?
(1) Itis part of Administrative requirement

(2) To inform parents about learning levels of children
(3) Scope for introspection and further improvement

(4) To approve school grants

ey | ‘wfayfy’ =1 o= weferar €2

(1) 78 warafTe /en 1 39 ¢

(2) SR % AfuE TR F SR 1 sifawEsl B gfed w
(3) AEAfNT 3R IR FUR F! [eew

(4) Toama™ % A H WiFhd FEAT

Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

What is ‘Formative assessment’ ?

(1) Evalution at the end of academic session
(2) Paper-pencil test

(3) Evaluation on regular and periodical basis
(4) MCQ Test

r

‘R el 9§ 2

(1) Werforen |3 % Hq J gediw

(2) =TS-Ufae gdew

3) Frafba it wafus smm = gears
(4) g fasweda w9 qdam

Options:-
=1, Option ID :- 241,




= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

ICT tools in classroom
(1) can replace the teacher.

(2) can supplement to teacher.
(3) can be threat to children.
(4) can be best teaching and learning aids.

el T H HAR AR g1 IRl F I

(1) 31 &t yioeenfyd st qhd )

(2) HeUH % fAU FTRF & THd

(3) Tl % folw @aq & dahd 2|

(4) Hatad e SR STRATY SUHIUT &1 Hehd & |

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

What is the significance of Instructional material in classroom ?
(1) Arouses curiosity

(2) Breaks monotony

(3) It is administrative requirement

(4) Enhances learning

e | s Gt &1 @ 9eed 72
(1) 358 Sagehal 9

(2) 3GY UHEHITA HOW g §
(3) F% wurEfs o7de ¥

(4) 399 afm H gfg 3R 31




Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Competency based teaching basically is
(1) Learner-centric

(2) Teacher-centric

(3) Curriculum-centric

(4) Activity-centric

T SufE AT Herd: S ®
(1) Aferamd-sfxa

(2) FAYH-Hf<d

(3) UrETEAl-HRfgd

(4) TpArHRaT-Hf<d

Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65

Why ‘syllabus’ is important in classroom ?

(1) Easy for teachers and students

(2) Administrative requirements

(3) To execute classroom transaction effectively

(4) It provides scope and direction in a particular subject to attain expected outcomes




el H "Ureaky’ F Jeay § 2

(1) g 3yl 3R el & fa smam & )

(2) ¥% yurEfs o1l 7

(3) e H YW @1 | FoHEeR & (e /g

(4) 394 T faug fade § sifem wfawa o A =) oy ot fFew ym a7 )

Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

What is the role of student outdoor activities in education ?
(1) Promote entertainment

(2) Promote social skiils

(3) Leads to self-confidence

(4) Leads to better learning

e & a3 § faenefi ¥ sfedn wrefsam =1 #= yfow??
(1) 398 "L i ea g 2

(2) 359 gHfSs R 6 T e @ )

(3) &9 worwEd WAfgvar Fgdr 2

(4) THY g AT W S’

Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

Which one of the following factors may badly affect learning ?
(1) Noisy surroundings

(2) Bad social circles

(3) Small classroom

(4) Discomfortable Furniture




famifea § |, fFag ftrm 30 T gaifad & w@ &7
(1) sRgw ufEw

(2 0 amfas "50fd

(3) BT HRI-HY

(4) TR-JANEG WA

Options:-

=1, Option ID :- 265,

= 2, Option ID :- 266,

= 3, Option ID :- 267,

= 4, Option ID :- 268,

Answer Given:- 2, Option ID : -266

Question ID:- 68

What should be the nature of teacher-student relationship ?
(1) High degree of Intimacy

(2) Desirable social behavior

(3) Supportive and non-threatening
(4) Unbia ed

FoTyh-faenel Gey 1 wefa F@ A arfgw ?
(1) Afyess wfHs®

(2) @By gEifSE TR

(3) @gIrmEs iR wrfea

(4) qamEEd

Options:-

=1, Option ID :- 269,

= 2, Option ID :- 270,

= 3, Option ID :- 271,

= 4, Option ID :- 272,

Answer Given:- 3, Option ID : -271

Question ID:- 69

What is the role of learner in cognitive learning ?
(1) Inhibits actions

(2) Social participation

(3) TPassive participation

(4) Actve participation



Tarreas At § ‘ eiferrgarat’ it #n faem ¥ 72

(1) wfderues w1
(2) wmfes i
3) fafsra wierd
4 dfswr vpigd
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70

What is the demerit of Behaviouristic learning ?
(1) It will enhance learning.

(2) It focuses on surface behavior only.

(3) It focusses on deep intellect.

(4) Learner will not take learning serious.

FFERRF AL 1 7 9 2

(1) 398 Ay | gfg &rft

(2) 399 FIA Qedl SIFER W & [ SHfrad fHal I 2
(3) TEH eA Yfg W oI Hfwd R SR

(4) fermeRal iftrTy 1 TR | AL i)

~—

Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT25FEBSH2

Question ID:- 71

‘Dyslexia’ refers to :
(1) Inability to learn
(2) Inability to read
(3) Inability to speak
(4) Inability to see




feaaforrn 4 afima ¢ -
(1) 3 § syamef &

(2) 9E I e

(3) SIAH 1 SEHA

(4) @A H HYgEA
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

The condition in which the child can not recognise properly the numbers :
(1) Dyspraxia

(2) Dyslexia

(3) Dysgraphia

(4) Dyscalculia

59 e A =i gEmsl 1 qal-9ifd Ye=r 6l o Uil 8, 98 S hedldl §

(1) Teudfem

(2) femaifeyan

(3) fewmfwar

(4) fewwhegpem
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73




What is minimum percentage of disability to claim various benefits from Governments by
disabled ?

(1) 25%
(2) 35%
(3) 40%
4) 50%

feorin eaferali g0 R H fafay wgfaamd ara #:33 &1 <@ A + fom f.veqa o =~gAae gfewd #0182

(1) 25 %
(2) 35 %
(3) 40 %
(4) 50 %
Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,
= 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

What is ‘Megacephaly’ with reference te mental health ?
(1)  Smali sized head

(2) Large sized head

(3) Cretinism

(4) Large and expanded eye balls

gAfg® @rer & g | et g ?
(1) eH3THR &1 TR

(2) d8% 3R A FEY

(3) wfefs

(4) e 3ir famfag 33 o=

Options:-
=1, Option ID :- 293,



= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What is the purpose of ‘Manodarpan’, the programme recently launched by Ministry of
Education ?

(1) To provide psychological support to the students for strong mental health
(2) To promote sports education

(3) To promote value education
(4) To promote scientific temper

Toren Harera g1 w1 € 9 YRy R o weedor’ i s yEeE € 2

(1) v&a wHfs @ & for faenfii = gamfas 9eam ygr e
(2) @« e H sEE

(3) ¥ @ s &1 wgen &

(4) aFfe gfehi S S A

Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
= 3, Option ID :- 299,
= 4, Option ID :- 300,

Question ID:- 76

What should be the quality of Mental Health Counsellor ?
(1) Empathy

(2) Apathy

(3) Sympathy

(4) Emotions

HAfgE W TRk § & o A =e ?

(1) R
(2) =
(3) weyfd
(4) Fam




Options:-

=1, Option ID :- 301,

= 2, Option ID :- 302,

= 3, Option ID :- 303,

= 4, Option ID :- 304,

Answer Given:- 1, Option ID : -301

Question ID:- 77

Which one of the following factor is not responsible for mental disorder ?
(1) Hormonal Imbalances

)  Malfunction of Brain

) Traditions and Customs

4)  Emotional disturbance

S ]

(
(
(

(1) ®MHA SFHgeH
(2) =Rash &1 Yeyifa wE T ST
(3) T iR e
(4) HIurEHS ywfa
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,
= 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

"Autism’ is a type of :

(1) Visual disability

(2) Sensory disability

(3) Intellectual disability
(4) Physical disability

‘Fifesy’ F=ifed 9 A e g §?

(1) gl feaaman

2) 3f=a G4t feama
(3) g feaanm

(4) wif fesam



Options:-

=1, Option ID :- 309,

= 2, Option ID :- 310,

=« 3, Option ID :- 311,

= 4, Option ID :- 312,

Answer Given:- 3, Option ID : -311

Question ID:- 79

The following could be an example of Community Learning Centre ?
(1) Local Animal Shelter

(2) Cinema Hall

(3)

(4)

Home
Temple

frmifera 9 @, 0 Wgefas e = 1 3T ) Fha § ?

(1) <y qyemen

(2) faAHIE

3 T

4) #HR
Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,
= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

Normally what is the advantage of Educatienal counselling and guidance in schools ?
(1) Shows direction to job careers

(2) Boosting confiden e to take healthy decisions

(3) Academic excellence

(4) Preparation for job interviews



gr=ra faenaa § Fefres vl siiv arigels o =0 @y § 2
(1) 358 svaafas S ¥ Fw ara v &

(2) 398 @y fAufg o & fau fovam 9§ ofg &t @

3) Vafus Sk

(4) @Y Gefud TR H1 JI

Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
=« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT25FEBSH2

Question ID:- 81

Who is responsible for smooth running of the school ?
(1) Discipline committee

(2) Students

(3) Teachers

(4) Principal

foerera & gare F9red F fau A Iaerh S @ € ?

(1) FgemEd qffa

(2) foremed

(3) H=ATIH

(4) =
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82

Who should be the ‘crisis manager’ in school ?
(I) Management

(2) Teachers

(3) Students

(4) Principal




A § ‘Hhe yaUE B oA AfaU ?

(1) 9=8q
(2) AEqTH
(3) foremeii
(4) YA
Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

The positive organisational climate in school can be provided by :

(1) Effective scheool leader
(2) Dedicated staff

(3) Students

(4) Parents

faaem ¥ F=ifsrd 9 9 19 GSRcgs s IRay Iude 3 Hahdl & ?
(1) 9] Shel 61 A4l

(2) THEYe FHIA

(3) Teemefimy

(4) HA-far
Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

What is the purpose of ‘School Development Plan” ?
(1) Enriches school culture

(2) Better publicity

(3) Attracting students

(4) To get more funds




‘Tamaa fasrg Q<=1 &1 &1 yAeH 8 2

(1) 384 famas i gl oiv s Ty 3 T
(2) WER YR

(3) femnferl &1 wwffa w311

(4 3R sy gt g w0

Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

What is the purpose of Time-table in school ?
(1) To complete syllabus in time

(2) To conduct examinations as per schedule
(3) To rationalise teachers work

(4) To stay organised in all aspects

fagea 3 ww-|Rei =1 1 78N € 2
(1) 9% W 9GHHH [ S

(2) JFHH h TTEAR Glensil 1 JESH
(3) ALY o i 1 Gl s
(4) Gft 9meh | gofad @

Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

Why is Parent Teacher Association required in schools ?
(1) It can mobilise funds for school.

(2) It can take part in school programmes.

(3) PTA promotes co-oOperation.

(4) Joint collaboration of parents and school would enhance learning and all round development.




faen@al H sfiysres oA §9 (WeT) 1 g = gedl & ?

(1) 359 fagama & oy ffe g2 w1 gt 31
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(3) AfiTem s1eER |E GEET S sl <l B
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Options:-
=1, Option ID :- 341,
= 2, Option ID :- 342,

= 3, Option ID :- 343,
= 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

How to improve teaching-learning process in classroom ?

(1)  Well qualified teachers

(2) Discipline of students

(3) Non-threatening and supportive classroom environment
(4) Well ventilated classrooms

He § AT S yFH § HH GUR aren ?
(1) I S

(2) faenfel =1 sigene

(3) e H 9wl 3R weAel e

(4) IUH AAETYE HE

Options:-

=1, Option ID :- 345,

= 2, Option ID :- 346,

= 3, Option ID :- 347,

= 4, Option ID :- 348,

Answer Given:- 3, Option ID : -347

Question ID:- 88



Which one of the following factors is important for learning in class ?
(1) Concentration

(2) Attention

(3) Motivation

(4) Interest

f=ifed 9§ 9 9 | w1 Fan § sy & fau 9gaqi €72
(1) T

() "

(3) sfuTm

4 ==
Options:-

=1, Option ID :- 349,

= 2, Option ID :- 350,
= 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89

Which one of the following quality of teachexr will enhance learning ?
(1) Communicating ability

(2) Physical personality

(3) Inspiring ability

(4) Guiding ability

FATYS A fFY oET & wawwy @iy § gig e 2

(1) S99 Fa

(2) RIS Al

(3) APET FrEa

(4) wnigEH &t ArEar
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90




Which is the Competent Authority to decide qualification for teachers ?
(1) National Council for Teachers Education

(2) Central Board of Secondary Education

(3)  University Grants Commission

(4) Central Institute of Educational Technology

FEAHI F A & Gy § Fv o9 F v ey wivei i fF=ifea s e g 2
(1) UL v foey ufte

(2) = geafys faen a9

(3) ferafaenera seA @M

(4) =g derfrs diEnfirnt deaE

Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Subject : PE_Q91-Q100_PRT25FEBSH2

Question ID:- 91

The curriculum should focus on :

(1)  All round development of child
(2) Content in text book

(3) Skills

(4) Knowledge

=t § fAeifed § & 59 W am e fn s =fen ?
(1) ST 1 FER faws

(2) WAL Bl favg e
(3) N
(4 A

Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361




Question ID:- 92

Which one of the following recommended opening of ‘Navodaya Vidyalayas’ in country ?
(1) NEP-1986
(2) NCE-2005
(3) POA-1992
(4) NEP-1968

famifed 9 9 fred 2w d ‘o o’ dier =1 fawf =t 18 92

(1) U< faan ifa, 1986

(2) U wEAFE EIE], 2005

(3) W SE TEH, 1992

(4) LT o i, 1968
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which commission suggested three language formula in Education ?
(1) Hartog Commission

(2) Mudhalior Commission
(3) Kothari Commission
(4) Ramamurthy Committee

f=ifera § | fora o H foien < &1 9 - g3 1 g fan o ?

(1) RN M

(2) HefaEr sEm

(3) SRM FEM

(4) wegfd SfEfa
Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371




Question ID:- 94

As per RTE, Act 2009, Non-detention system is applicable up to class :

m Vv
2 IX
(3) VI
4 X

foren =1 fapr 3fufFam, 2009 % FATER =77 fedvm faen (FRy-q yonelt) F=ifea 4 9 fva s
e W 8?2

(1) e
(2) HIA
(3) huT A&
(4) e
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

According to NEP 2020, the medinm of instruction up to class V in schools should be :
(1) Any Foreign language

(2) Mothertongue/ Regional language

(3) English

(4) National langtage

T faen A4, 2020 % S7ER famei § &1 5 9% e 1 59 g9 [fwe

(1) Fwel facstt s §
(2) AQemEvIRivE o H
(3) S H
(4) T W H
Options:-

=1, Option ID :- 377,




= 2, Option ID :- 378,
=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

Which National Policy recommended use of grades in place of marks ?
(1) NPE-2020

(2) NEP-1968

(3) NEP-1986

(4) POA-1992

fr=ifea 9 9 form g A0 § oid % @9 W I F 79 & §5fd ) 12
(1) Ly faan Afq, 2020
2) g faen Hifd, 1968
) U9 far @ifd, 1986
4) UM E TFH, 1992

Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

In which year the constitution was amended to include Education in ‘concurrent list” ?
() 1976

(2) 1968
(3) 1986
(4 1992

fore =l wfaur A Seia = s 1wt g9 § enfae o 2

(1) 1976
(2) 1968
(3) 1986
(4) 1992
Options:-

=1, Option ID :- 385,




= 2, Option ID :- 386,
= 3, Option ID :- 387,
= 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98

The vision of NEP-2020 is :

(I) To transform India, a vibrant knowledge Society.
(2) Skill India

(3) Free and compulsory edu ation te be the age of 14.
(4) To make every citizen a Human Capital.

Ty T Hifa, 2020 @ faom & -

(1) Rd %! U qvE 9 Sigd J9 3enid g9 4 ufiafda
(2) HUT R

(3) 14 o¥ H 37y d% .3 3R afFard faan

(4)

Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

What is Integrated learning in school education ?

(1) Process of making connections with new situations in life and cross learning with other
subjects.

(2) Learning all subjects together.

(3) Learning of curricular and co-curricular subjects together.

(4) Leaming of craft are Arts.

faaeen faen § uwisa eifenm 1 €2
(1) StEa 1 53 fefaal § g3y <nfyq @ ot qfwa aw o= fawgi § sqwer sifm

(2) @ fawdi 6 = Wy hrm
(3) ueA=Al 497 48 nen=al & faud & uk Wy afm
(4) Toew iR wen = afem



Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

‘Rousseau’ is associated with
(1) Idealism

(2) Naturalism

(3) Realism

(4) Pragmatism

6 feifpa | 4 fFa weafda 22
(1) AR
(2) UHfaER
(3) FUEarRg

(4) HaRIRHAEE

Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120 PRT25FEBSH2

Question ID:- 101




Freafafas e S argds wgat S8 W ATUTRE U9 & Jits I AT

Hord 9 A, YU T Yere T VA 3R T A M| A% ey W Y1 | ufafda &
HE-Hgl fasicll A =Fo el Taigy 3 Ga-FfeEl 1 Jed-FHured 2ot ot fewrd &4 €1 A 39 19 =i
e 37el off 578 =1 §1 9 warE- ad @At onft off & faerd S wed € - e, 1wy, SEeh, s
et skl 1" @1t ot g Te-we B dd & gy faR W Yoen W ! €, Akl yRore E g ot § A
FS- 2 AEtafg 3 F1 FIRi, NI W gHH TSIC M F 3R a-SeH F A w9 W W G-
GATE St & 1 31 off 39 - g o)l F A -9 AE Mk | FeAcd® 0§ fau-ud §1 3w F e
TR g 3 TS - %Y qfigmeierdr sk e &g G@hrl i yhe i €1

frfefad § 4 oita § 0 46 e ?
(1) "

2 7

(3) Toa-oyaEn

(4) A

Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Frefafaa e @1 argds Tgat 30 OY 3renia U9 @1 ¥ta S S ¢

Hd o9& T, GU T Y WA S T a_a M| A ey WX YFh) | uiafdd & o
H&-hdl fosicll A Fo arel Tl S8 W FITEl i Jed-TFHured 2ot oft fowrd <d €1 A s M9 =i
e 3ol oft O =l &) o wAg - ad guA ) et of < faed € hed € - ¢ e, @ W, SEEh, S
Tosht w1 1" et off HF e-oe T 2y &) wgl R W gl W] €, Aginal uiHre G e ol € qen
FS-qg ARMETE 3 § 1 FHl, AT W R TS I & AR E-EH A Fhe ==l W tsht G-
GAE I & | W o) I H-Th W F dm-Gig FH et § s 1 A @ ) A F
R -FH 34 K& - Y utgmeiaar oiv wencas w9 Gl 6 ghe Hid €|

e & =g = e §
(1) =&

(2 4

(3) FRd

(4 w

Options:-
=1, Option ID :- 405,

= 2, Option ID :- 406,




= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Feafafaa mie & argds Tgar 3@ W Innia w9 & Wid IW S

[dl e T, YU G Yok T WA SR T R M| 33 e WX Yeehl § uftafdd &
Fel- el fareiell | e Aot TAgY iR Ta-Ffea i Aga-Teured o=t off fewrd a4 €1 3| wa F
e 3ol oft S = ¥ 9 v g guAt ) endt oft < ferd € sed ¥ - ¢ 9, (@ am, e, S
e Y 39edt off g3 T F 2ad @ g0 fR W veen W o €, wrefmal v g g o € qen
T2 Arfaig 3 1 oo, Il T gFh TS AW ¥ 3R Ma-TEH # dHe F9i W Ahd G-
GAE I &1 30l off 39 FE-TRh T F dH-Hre A aR | wers 1 H far- ) e F e
FBR -5 37 a - &) wRgmshear iR Fargs 9 bRl &l yhe FE 2 |

a5y fat W Yool el & ofdl § ?
(1) = H
(2) WAl W
(3) Te-ERH
(4) FI W
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104




Frafafad Toter S argEs wgar S8 W FruiE v & wiEs I AT

[ e A, YU T YerR T VA 3R T IR M| A% ey W Y | ufafda &
&l fasich { 4 aTel TaigV 39— Ffed i Fed-THumed 2ot oft fewd &4 €1 A 39 19 =i
e 7o) off 5 o ¥ 9 v ad @A ond off | e € wed € - ¢ S, 1w T, e, s
ol 1" 31t oft g wg-we O dwd g1 gl Rk W Yeel o ol €, cigfnal IHiaR i@ g ol € aen
w3 anefiat 33 ¥1 FeoRl, HTel W geh TeTSe O ¥ o e v @Y Sl =l v o g
GAE A E 1 31l o 3T - gk o/l F A-HIS A aK | Herns 0§ fal- @ E ) o1 F A
TR T-ZR A TS T =) Rguehiadr ik Faras o9 Gl # ghe 1 €1
R F 3m FH F?
(1) -
(2) TMAHH
(3) el fagdl A ot gu
(@) form ferd-gd

Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

frfafaa ey =Y wargds ggat 38 O AuTiRa UyA T WEte I S

Al 35 T, YU 7 Y T IEA 1 T a5 MU 3 H=) T ekl § gfikafdad 8w
Fal-Hel fAeTel) § T 9T Tahy- SR G- FiEl #1 ded-faared gaey «f feais <0 €1 9y 3u e
e 3eft ot S Al ¥ ) € qArE A 9y Q@A) el off & faerd € wed € - S, I T, ash, S
THt T 1 3 o g T TR HREd € oRU R W qeet Y o €, cAsiehal IRAET E IR ol & de
TS-qg EalG 37 81 SFR], AT TR PSS A § 3R e-Se F Fhel == W A G-
A St €1 3R ofi 3T I -vah T q- IS ARH AR | heledsh @1 J fau-ga €1 3 ol @
TR W-FR 39 T - Y gRemeiadr 3it wetcas ofa Wwehri o1 e Fd €1
Mg F w3 % F2-TER T ER 1 Yohe i & ?
(1) Her=Rl
2) Tesd
3) aRgmsieran

(
(
@) TSR




Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

‘A v T EEErE vk A |

() =™
(2) 99
(3) fAha
(4) ¥R
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107
‘TSR TR I §
(1) HHIE FHH A
(2) OYES HHE H

(3) agdife q9g =

4 fepwam =

Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,




= 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

frafafad v Tl § To-ag9e 1 99 FH R

(1) @ - 59

(2) & - ann
(3) 3 - &M

(4) ¥ - I
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

frefafad faame w3 § o757 € =
(1) Sifed - 5

(2) a9 - ¥4

(3) drafasw - |ifas

(4) dF-dd
Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

fagrom @ d o= § 37HTd ©
(1) 94 - 5@

(2) ST - 991

(3) TRH - TRARL

(4) -




Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

ot wifer amer o 761 &
(1) =4

(2) TEHR

(3) werH

(4) HAER
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘e AT’ eIt w Feh AuE g
(1) §EHh * daE a4 HA

(2) =AY Y TG HLAT

(3) =AY H FUT-I HA

(4) FE FHTFA

Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113




‘qren’ Aefafad g A s ET R T § 2

(1) = = & s

(2) 49U ¥9m A

(3) g =t wiem HEt
(4) SRS
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

‘a P oW T TR famm A w2

(1) ke
(2) T
(3) AEH
(4) i
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

‘Tod &1 591’ e F AGEF ¢
(1) IHuA fEe faw

(2) ERFTUR FT=F

(3) W =R W
(4 R
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457




Question ID:- 116

‘o 311 U’ e T % AR |
(1) qe= fowa

(2) W

(3) TR fdg e

(4) <. RIEH

Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

'S T Ed § '’ T R s 6 w2

(1) fEfgm-1
(2) TEfgm- 2
(3) fmfgm-3
(4) TEfgq-4
Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

frafafed 4 4 s9d- ¢ H1 J@ ISR § -
(1) e

(2 ™
(3) e
(4) foreet




Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

‘O fraR’ AT F WUR W T4y 7 9 A S § F9 <r ?

(1) &4 SeAd
(2) a9/ e
(3) ¥gd 4 fadn
(4) == H fHae
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

‘ST 31 39 A A9 hiadr & =g €

(1) sty JMm
(2) AnTEH

(3) FR AR
(4) HieAaa fgag
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT25FEBSH2

Question ID:- 121




Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Ceurt and the City Civil Court. A workaholic, he putin 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

The writer’s mother dressed her youngest son as a girl because
(1) the child had girlish looks.

(2) it satisfied her desire for a daughter.

(3) she had plenty of girls’ dresses at home.

(4) she had five sons.

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,
= 4, Option ID :- 484,

Answer Given:- 2, Option ID : -482

Question ID:- 122




Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Ceurt and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

The father did not care much about his wife’s desire as he was/had __
(1) tall and strong.

(2) aloud voice.

(3) a voracious reader.
(4) too busy in his work as an advocate.
Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123




Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Ceurt and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Study the following statements :
(A) The father had a poor handwriting.

(B) His typist must have been working with him for a long time.
(I) (A) is right and (B) is wrong.
(2) (B) is right and (A) is wrong.
(3) Both (A) and (B) are right.
(4) Both (A) and (B) are wrong.
Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124




Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Ceurt and the City Civil Court. A workaholic, he putin 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not satisfied even after two
or three warnings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Which of the following statements is NOT True ?

(1) The father had strict food habits.

(2) He firmly believed in punctuality.

(3) Every two-three years he would hire a new cook.
(4) He was very particular about payments.

Options:-

=1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125




Read the passage given below and answer the question that follow :

My parents had five sons but no daughter, and so my mother was disappointed.
Hence, during Navaratri, she would dress up her youngest son in a bright silk skirt and a
matching blouse. With jasmine flowers flowing down his curly hair, he was masqueraded
as a girl.

Unlike my mother, my father was a tall and strong man with a loud voice. He
practised in the Madras High Court and the City Civil Court. A workaholic, he put in 18
hours of work beginning at 5 a.m. He was a voracious reader and a fluent speaker. He
was a fast writer, but with handwriting like the scrawl of a spider from an ink pot. Only
his intelligent typist could decipher his writing.

My father liked hot, fresh food with moderate quantities of chillies and tamarind in
sambar. Particular about his taste, he would warn the cook, if not safisfied even after two
or three wamings, he would settle his dues and sack him.

We had a convention of the family sitting together for dinner. If any seat was vacant,
he would warn the person coming late and stress the importance of hard work with value
of time.

Choose the word which means the same as :

VORACIOUS

(1) Gluttonous

(2) Casual

(3) Stolid

(4) Reluctant
Options:-

=1, Option ID :- 497,

= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

Choose the word which is opposite in meaning to :

ABHOR

(1) Rejoice

(2) Defame

(3) Choose

(4) Love
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504




Question ID:- 127

Choose the word which is opposite in meaning to :

JUVENILE
(1) Lifeless
(2) Huge
(3)  Adult
(4) Big
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

Identify the part of the sentence that has an error in it :

He came inthe class without the keacher’s permission.
(@) (b) (c) (d)

1 (a)

2 @

(3) (9

(4) (@)

Options:-

=1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129

Identify the part of the sentence that has an error in it :

been worryi about you for the last one week,
(@) (b) (©) (d)
(1) ()
2 (@®)
(3) (9
(4) (@)

Options:-




=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Identify the tense form of the following sentence :
Meena has come back from London :
(1) Simple Present

(2) Present Perfect

(3) Present Continuous

(4) Present Perfect Continuous

Options:-
=1, Option ID :- 517,
= 2, Option ID :- 518,

= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the tense form of the following sentence :
The city was shaken by an earthquake :
(1) Simple past

(2) Past Perfect

(3) Past Continuous

(4) Past Perfect Continuous

Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 1, Option ID : -521

Question ID:- 132




Choose the option in which the following words/phrases have been correctly rearranged
to form correct sentences :

(A) child psychology
(B) a teacher one

(C) before aspiring to be
(D) has to understand

(1) © (B) (D) (A)

2 B © @A) (D)

3) (D) (B) () (A)

(4) (A)(© (B) (D)
Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

Choose the option in which the following words/phrases have been correctly rearranged
to form correct sentences :

(A) become a sanyasi
(B) rich clothes and
(C) away all his

(D) he has cast

(1) (A) (B) (©) (D)

2 (D) (© (B) (A)

(3)  (© (D) (B) (A)

(4) (D) (B) (O) (A)
Options:-

=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134




Choose the option in which VOICE in the following sentence has been correctly changed.
I have completed my job now .

(1) Now my job has been completed.

(2) My job has been completed by me now.

(3) My job has been completed by me then.

(4) My job had been completed then by me.

Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the option in which VOICE in the following sentence has beencoxzectly changed.
He is winning the match :

(1) The match is won by him.

(2) The match is winning by him.

(3) The match is being won by him.
(4) The match has been won by him.

Options:-
=1, Option ID :- 537,
= 2, Option ID :- 538,

= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Fill in the blank in the following sentence with suitable prepositien.

In case of danger, you are advised to stand

(1)  off
(2) of
3) wup
(4) in

Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541




Question ID:- 137

Fill in the blank in the following sentence with suitable prepositien.

Ram and Shyam have taken each other.
(1) up
(2) to
(3) for
(4) off
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Choose the option in which Narration in the given sentence has been cerrectly changed.
Karan says to me, “Bring me a glass of water, please.”

(1) Karan orders me to bring him a glass of water.

(2) Karan asks me to bring him a glass of water please.

(

3) Karan requests me to bring him a glass of water:
(4) Karan tells me to bring him a glass of water,

Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Choose the word similar in meaning to the ones given below :

Antipathy

(1) Mediane

(2) Distress

(3) Diusion

(4) Dislike
Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,
= 4, Option ID :- 556,




Answer Given:- 4, Option ID : -556

Question ID:- 140

Choose the word similar in meaning to the ones given below :
Earnest

(1) Serious

(2) Lonely

(3) 0Odd

(4) Grateful

Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Subject : MATHS_Q141-Q160_PRT25FEBSH2
Question ID:- 141

The smallest 6 digit number which is completely divisible b2.is :
(1) 100023

(2) 100001
(3) 100008
(4) 100002

6 il F) T | SR T S 21 | i fasfd S 2, # -
(1) 100023

2) 100001

3)

(

(3) 100008
(4) 100002
Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142




The predecessor of the smallest six digit number is :

(1) 100000

(2) 999999

(3) 999998

(4) 99999

6 3ihi F B T VA W H A L
(1) 100000

(2) 999999

(3) 999998

(4) 99999

Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143

A publisher published 500000 copies of a boek and sold 475939 copies. 4379 copies got damaged.
The number of copies left with publisher is ;

(1) 28440
(2) 20692
(3) 20982
(4) 19682

Teh WA 500000 J&ieh JTUAT 8 TN 475939 Tifah o a1 €, 4379 & WIS Bl el & | U = WG
319 J&h! F G R

(l) 28440
(2) 20692
(3) 20982
(4) 19682
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572




Question ID:- 144

In Roman Numerals, the symbels I, X, C and M can be repeated successively only :
(1) Omne time

(2) Two times

(3) Three times

(4) Any number of times

TATSRH A RS L X, CEMMAIIEOUTMR bhaad o <1 gehar 1
(1) =R

(2) QAR

(3) dH &R

(4 fHa st an

Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

When a number is divided by itself, the result is :

L o

2 1

@) -1

(4) The number itself

Tt T ol IHHEAT Y 9T i WY Bl ©

(1) ©

2 1

3 -1

(4) =& HEW
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,
= 4, Option ID :- 580,




Answer Given:- 2, Option ID : -578

Question ID:- 146

15 ml of medicine in litres is expressed as :
(1) 1.5 litres

(2) 0.15 litre
(3) 0.015 litre
(4) 0.105 litre

15 ml €478 o ¥, 39 YR fod) s g6l 2 -

(1) 1.5 &K
(2) 0.15 =X
(3) 0.015 &l
(4) 0.105 &Y
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

Hew many triangles are there in‘the given ﬁgure ?

1) 12
(2) 18
(3) 20
(4) 24




it T ot B Forer P 82

(1) 12
(2) 18
(3) 20
(4) 24

Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Question ID:- 148

The number of prime numbers having two digits in which the digits are also prime is :
(H 4

(2 7
(3)
4) 10

Q) ! aTedl S3UT FEwsd A de, s oH{F ft v ¥, 2

(1) 4
2 7
(3) 8
4 10
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149




26
The decimal representation of —_ is:

25

(1) 1.04

(2) 0.104

(3) 10.4

(4) 1.4

2 .
o5 ] S¥HAI ©Y ©
(1) 1.04

(2) 0.104

(3) 10.4

4) 1.4
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

The breadth ef a river may be :
(1) 50 km

(2) 500 m

(3) 50 cm

(4) 500 mm

Teh <] 1 DS 8l Wbl ©
(1) 50 km

(2) 500 m

(3) 50 cm

(4) 500 mm
Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
= 3, Option ID :- 599,
= 4, Option ID :- 600,




Answer Given:- 1, Option ID : -597

Question ID:- 151

If the perimeter of a rectangle is 32 cm and its length is 9 cm, then the breadth of the rectangle is :
(1) 115 cm

(2) 23 cm
(3) 14 cm
(4) 7 cm

7fE Ueh AT 1 YA 32 cm § 91 3HF) TR 9 am &, d A HI 98K §

(1) 115 cm
(2) 23 cm
(3) 14 cm
49 7cm
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

The area enclosed by the adjacent figure is :

6 cm
D
T
12 cm
¥
6 cm I I 6 cm
<12 cm— ?
12 cm
4
€«—>
6 cm
(1) 72 cm?
(2) 180 em?
(3) 324 cm?2
(4) 400 em?




T
12 cm
I
6 cm I I 6 cm
<|2cm— ?
12 cm
b
e
<t ¢ 3Rt gR Ifeg S9FE € -
(1) 72 cm?
(2) 180 cm?
(3) 324 cm?
(4) 400 cm?
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

(in hectares) is :

(1) 300
2) 30
3 3

(4) 0.3

The length of a field is 600 m. If the breadth is 500 m, the area of rectangular field




Teh WA 1 T8 600 m T | A 39 e 500 m 3, A AFAHR T 1 STFA (FRW H) 2
(1) 300

(2) 30

(3) 3

(4 0.3
Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

A shopkeeper sold a watch for ¥ 280 and gained profit of 12%. The cost price of the watch is :
(1) T 268

2 T 256
3) T 250
(4) T 240

T THMARR A TF 91 T 280 W Ik, HR 12% o0 9 fokaln | €} &1 369 54 ©:

(1) T 268
(2) T 256
(3) T 250
(4) T 240
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155




Length and breadth of a cuboid are 15 cm and 9 cm respectively. If the volume of the cuboid is
675 cm®, the height of the cuboid is :

(1) 5em
(2) 8cm
(3) 10 cm
(49 12cm

Teh B9 i o7alle a1 A1e8 HA9: 15 cm 3R 9 em B | AT 5419 1 1964 675 cm 8, @1 519 =)
I

(1) S5cm
(2) 8 cm
(3) 10 cm
(4) 12 cm
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

98.6°F is represented in centigrade as': (Given i = i SZJ

100 180
(1) 35°C
(2) 37°C
(3) 39°C
(4) 40°C

100 180
(1) 35°C
(2) 37°C
(3) 39°C
(4) 40°C
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,




= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

The surface area of a cube is 1536 cm?. Its volume is :
(1) 256 cm®

(2) 16 cm?
(3) 48 cm®
(4) 4096 cm?

T U9 1 HYU Y §Thd 1536 cm? & | 39 54 1 34 ¢ :

(1) 256 em3
(2) 16 cm?
(3) 48 cm?
(4) 4096 cm?
Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Question ID:- 158

1+2+34 ----- + 50 equals :
(1) 555
(2) 1000
(3) 1275
(4) 1500
14+2+3+----- +50 TR :
(1) =55
(2) 1000
(3) 1275
(4) 1500
Options:-

=1, Option ID :- 629,




= 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159

On simplification :

1-24+3—-445-6----- +101, we get :
(1) 101
(2) 81
(3) 60
(4) 51
(1) 101
(2) 81
(3) 60
(4) 51
Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160




Which among the following can not form a cube ?

(1)




e F 9 fopad == & s S Hehal € ?

Options:-

=1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Subject : EVS_Q161-Q180_PRT25FEBSH2

Question ID:- 161




Which synthetic fibre has been discussed about in the following paragraph ?

In 1939, when this fibre came, its endearing qualities created sensation in public. Women’s stockings
made from this new fibre were in great demand. But unfortunately, mest of its production had to
be diverted in making parachute due te Second World war.

(1) Rayon
(2) Nylon
(3) Polyester
(4) Acylic

fr=fafea v 4 feg dwfia @ & s d fow e 7 g2
We 1939 9 I8 Y I 37T Y 3T dresh T A AT B HANA! 399 e 139 19 W A /9 gfeaned

% HIeT w1 M A o) 9 3§ fadita favarg % 9ed 39 ™ % 3ced i e s Jave s ¥
=1 § formn 9 @

(1) ¥H

(2) AEEE

(3) GHATERI

(4) Ufwfas
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

Given below are two statements. One of them is labelled as Assertion {(A) and the other as
Reason (R), Choose the correct answer with the help of codes given below :

Assertion (A) : Certain bacteria convert some part of nitrogenous compounds to nitrogen gas
which goes back into the atmosphere.

Reason (R) : As a result, the percentage of nitrogen in the atmosphere remains more or less
constant.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.




1 F5A fqu T F (T A 3T (A) R G I FROT (R) el TN | A 0 70 He HY W

H He) SR 1 FIA B

afrwem (A) :  Fo fafire Sham At Fifiml i z2eE g 9 uitafda w2 <9 € S agded & =«
St

FROT(R) :  GRoEd: argesa o "AEasH 1 9 a@nam feer wd §)

(1) (A) 3 (R) A1 @& €, 3R (R), (A) T TE =90 a0 7

2) (A) 3R (R) T TE €, 3T (R), (A) Y T AW T HE@ |

3) (A) F& 8, WA (R) Tad T

(4) (A) T4 B, W (R) |l B

Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163
Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Many diseases like Cholera, Tubérculosis, Chickenpox and Hepaltitis can be cured
by vaccine.

Reason (R) : Polio drop which is given'to children is actually a vaccine.
(1) (A) and (R) both are true and' (R) 1s the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

17 Ao fqu, & ( TH H AT (A) R GH F FHROT (R) Fel T | A 070 He HY werAa
Y T8 I A FIF L

AFFRI (A) : B, &, % a1 2qefen St s SiafeEl #1 Jadt= (3%) g/ T S G § )
FHROT (R) : W) 29 a=ii 1 fean S aren areda § weh Jadiq () B

(1) (A) 3R (R) 3 ¥ €, 37 (R), (A) F) T =men =@ 3

(2 (A) 3R R) I & € W (R), (A) ¥ 5@ =rEn 7 =@

(3) (A) T8 ¥ W (R) T ¢

(4) (A) 794 §, W (R) §el 2




Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Given below are two statements, one labelled Assertion (A) and the other labelled as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Humans get their food both from plants as well as animals.
Reason (R) : Animals including humans cannot make their own food.
Code :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A)is false but (R) is true.

9 g9 fou e § (v i TR (A) 3R G I HROT (R) e T 7 | A1 U e e ) werTa
T HE) I H FTA B

JMFOT (A) : T 791 Wi Yol e Sigedi 41 1 9 & 9T e §
FROT(R) :  HI= Afed 990 S s 3914 9 1899 §)

(1) (A) 3R (R) < ¥ €, 3R (R), (A) T = 2@ 3
(2) (A) 3R (R) A @&l €, 3R (R), (A) B T =wen T8 H |
(3) (A) HE 8, W (R) Td &

4) (A) T §, W (R) T &1

Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165




Choose the correct answer with the help of given codes.

Compost is considered better than fertilizers because :

(A) Compost improves the texture of soil.

(B) Compost increases the number of friendly micro-organisms.

(C) Compost makes the seil hard due to which gaseous exchange becomes easy.
(

D) Compost reduces the water retention capacity of soil which helps in the growth of plants like
wheat.

(1) Only (A) and (D)
(2) Only (B) and (D)
(3) Only (C) and (D)
(4) Only (A) and (B)

e 1 HerHdl W HEl IW B =TI R

Sfas @] 3w FY 30T A =81 g It § i

(A) Sfaw @R 3 M &1 oA gR TR

(B) <ifow @R ¥ fag Samsi = wen § gfg 8 st &)

(© Sfew @g ¥ fedt T @ st § fogs s 9 fafi9a s@a 3 S R

(D) e @t | W2l %1 - R &= H B 2dl o forHd g, 99 HEell 1 SH § Heg Weidl § 1

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
=« 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166




Below are few features of spores. Choose the correct answer with the help of given codes :
(A) They are light.

(B) They can cover long distance.

(C) They are sexually reproductive bodies.

Codes :

(D (A) & (B)
(2 (B) & (C)
(3) (A& (©Q
(4) Only (C)

= el i $o fadmad < w2 ) fe FY T ¥ T SR F 9 B
(A) ATHAARI

(B) ¥ &) g0 dh o g B |

(C) 3 Afre 534 377 2 ¥

C T8
(1) (A) 3 (B)
2 (B) ¥ (Q)
(3 (A)3R(©Q)
(4 %I ()
Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,

= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

Given below are twostatements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Sandy soil is dry.

Reason (R) : The sand particles of sandy soil are very small.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) {(A)is true but (R) is false.

(4) (A) is false but (R) is true.




1 Q e fau e E (w1 3T (A) 3R R I FROT (R) el T | 0 MU e Y wgrIan
T TE IR H FIA HY

AMNwT (A) : T3 I Yh T T

FRO(R) : &% 521 5 hU S &Id &

(1) (A) 3R (R) 3Fi & €, 3fR (R), (A) T §& owEm =@ )

(2) (A) 3 (R) 31 98§, 3R (R), (A) FT T8 =@ 7 FA T
(3) (A) €& &, W (R) e &

(4) (A) THd ¥, W (R) T& 2

Options:-

=1, Option ID :- 665,

= 2, Option ID :- 666,

= 3, Option ID :- 667,

= 4, Option ID :- 668,

Answer Given:- 3, Option ID : -667

Question ID:- 168

Below are two statemens. Choose the orrect answer from the given options :
Statement (I) : Moving air is called wind.

Statement (II) : Increase in the speed of wind leads to increased air pressure.
(1) Statement (I) and (II) both are true.

) Statement (I) and (II) both are false.

) Statement (I) is true but Staiement II) is false.

)  Statement (I) is false but Statement (II) is true.

(2
(3
(4
1 S e fem m § | feu gu famedi § 9 98 S 1 9 H
HYA (1) : Mifdeiier a1 vaq FEA g |

THYF () : 94 1 71 934 4§ 9 1 <= 98 A 3 |

(1) e (1) 3IR (1) i ¥ ¥

2 e (1) 3k (11) <A Ted ®

(3) T (I) Wel & 9Tg T (II) 7T § |

(4) /A (I) T &, T R (II) T T

Options:-



=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,
= 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

Choose the correct sequence

(1) Ingestien — absorption — digestion — assimilation — egestion
(2) Ingestion — digestion — assimilation — absorption — egestion
(3) Ingestion — absorpton — assimilation — digestion — egestion
(4) Ingestion — digestion — absorption — assimilation — egestion

TR A -

(1) FaUen — FANIT — YF7 — &S — e
(2) AU 5 U= — FAFET 5 HGEU 5 FecpET
(3) FqUEY — FITMYY — WOIEH — TFA — FArehizd
(4) SATHRY - UEA - HAWEN 5 WAHT 5 [HERET

Options:-

=1, Option ID :- 673,
= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Choose the odd one out :
(1) Cactus

(2) Algae

(3) Cuscuta

(4) Pitcher Plant

faom = -

(1) HFRY / AFA
(2) Ve

(3) IHEA

(4) Fegelt (free g

Options:-



=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

Following are the statements related to the houses constructed in the Cold Desert area of Leh.
Choose the correct answer with the help of given codes :

(A) Their walls are made up of stones.
(B) Their floors are made up of wood.
(C) Their roofs are made up of stones.
(D) They only have ground floors.

Codes :

(1) (A) and (B)
(2) (B)and (C)
(3) (C) and (D)
(4) (A)and (D)

frafafag Fu7 98 Teee S8 A H =1 F a9 H9fYyd €1 e g Fe =t Jed 4 581 S H 991
ETe

(A) 3! Al Yol | §41 Sl )

(B) 3T B AhS] F I ST ¥ )

(C) IAHI o4 Tl | o918 el 1

(D) 399 had -9 el B

E &
(1) (A) 3R (B)
(2) (B)SIR(Q)
(3 (O s (D)
(4) (A) SR (D)
Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172




In December 1902, Ronald Ross got the highest award in the field of medicine, the "Nobel Prize’.
His discovery was related to which disease ?

(1) Chicken Pox

(2) Plague
(3) Malaria
(4) Cholera

QAfee TH Ht fKER, 1902 § it & 93 9 9 (@R ‘Ao &R’ foadn 1 9 @ g §\h 4
Heifed of ?

(1) o
(2) wm
(3) wafwn
(4) W
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

You are a Lieutenant Commander and also a doctor in the Indian Navy, and along with this, you
are also given an opportunity to lead a parade on a na al ship. How many commands will you
shoutout in the complete parade ?

(1) 29
2 "1
3 "6

4 "9



A AR FHiEy, € R WRd A B fat off €, W @ sy - F 99 e R qh W H
FHHH T H1 i fHe &1 399 Wee #i el A g0 we B fra fdw <2
(n 29

2) 31
(3) 36
4) 39

Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

Which of the following work can lead to spoiling of crop of onion ?
(1) By giving minimum urea in the crop of onion.

(2) By doing average irrigation in the field of onion.

(3) By cleaning the weeds grown in the field of onion.

(4) By leaving the ready crop of onion in the ground:

- FE T WA F A Fog QS § 2

(1) oS & %8 § 2H0H A ¢4 W)

(2) S &) wEA Bl 3iHd R 6 Wi

(3) @IS H FEA H I EYAAR i GEE FH W

(4) T3 q AR 9 $) BHE H THH P FR @A <4 W

Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175




In some parts of Kerala, “Vallam’ is used to cross small rivers and drains. What kind of object a
‘Vallam’ is ?

—

) A bamboo bridge.

N

A bridge made of rope.

—_ o~ o~ —~

)
3) A small boat made of wood.
4) A bridge made up of trunk of a special kind of tree.

FTA T s 9Tl H SIS AT A1 A IR A A oo F1 i @9 ¥ ) 98 aews B e
T 8?

(1) drF 5o

(2) THHIFN

(3) RSl DI FA S T4

(4) TR yFERFICF A ATV
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176

Given below are two statements, one labelled as Assertion {A) and the other labelled as
Reason (R) , Choose the correct answer with the help of codes given below

Assertion (A) : The feathers of birds help them to fly and keep them warm too.

Reason (R) : From time to time birds lose their old feathers and new ones grow in their place.
Codes :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) {(A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.



1<} a7 feu L § | T 1 @R (A) 3R T S FOT (R) 81 0 7 | 4 30 T e H g
H 98 IR H I B

fuere (A) : U & Y@ AR 33 H HeE HEd § IR IHh W T oft wEd ¥
FROUT(R) :  GOI-999 R 9l & QF 7@ 78 o € 3iR 9u v@ 37 9 )

E&X

(1) (A) 3R (R) i &1 &, JARX(R), (A) H T& @ Fa1 2 |
(2) (A) 3R (R) 3 T E, 3 (R), (A) FT T =0 T FA R
(3) (A) T &, WA (R) T 2|

(4) (A) 7T &, WG (R) W R

Options:-

=1, Option ID :- 701,

= 2, Option ID :- 702,

= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Below are few statements about forest. Choose the correct answer with the help of given

options :

(A) Forest floor is usuall' dark in colour.

(B) The decaying matter on the forest floor is usually moist and cool.
(C) Nothing goes waste in a forest.

(D) Forests are quite dark.

1 (A) (B) (O

2 (B), (©) (D)

(3 (A) (©) D)

4 (A) (B). (D)

" S 98 $8 FuA Ku ¥ 1 feu v famedl &) wEEal § HEl IaR 1 999 H
(A) STt & 4fg TR T ET S R

(B)
(©)
(D)

ST 1 4 S & uetd SRR 99 9 3¢ id ¥
ST § $8 o =1 98 9|

ST IR UHRET B1d B

(A), (B) (C)
(B). (©)

(A), (€ ) (D)
(A), (B). (D)



Options:-

=1, Option ID :- 705,

= 2, Option ID :- 706,

= 3, Option ID :- 707,

= 4, Option ID :- 708,

Answer Given:- 2, Option ID : -706

Question ID:- 178

Why are forest called green lungs of the Earth ?
(1) They release oxygen through the process of photosynthesis.
(2) They remove all the arbon-di-oxide from the atmosphere.

(3) They provide more and more oxygen to overcome the oxygen and carbon-di-oxide balance
existent on the Earth.

(4) They fix the nitrogen of air directly.

ST 1 R B RS T el S © 7

(1) 3 Y™ {9 gR A fFsa €

(2) @ AN Y G Al SESIFEE T K <4 & |

(3) 9 UTd W HNE ATeISH 3 FEA SRATFIZES o HITH W HIY FH o A0 e Q A1) AT A
AN

(4) 2 Y N % A F Feafmo = ¥

Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711



Question ID:- 179

Narayan’s childhoed was spent in the Sabarmati Ashram. By which name did he write a book
where he mentions that “Guests of the Ashram are made to learn cleaning of toilets ?”.

(1) Message t Children

(2) Gandhi Vichar dohan

(3) Sant - Charan - Raj Sevita, Sahaj
(4) Gandhi Ganga

T T YA TTEASA o qrEEd e F e A1) 36 g) fhg AW H fare fae 1 § w5 6 faed
25 3w W o7 T SgEA w NATT F qEE w1 wW g s )’

(1) foenfef = d3w
(2) el feraw e
(3) Ha-=u-3 dfadi, waa
(4) e T
Options:-

=1, Option ID :- 713,
» 2, Option ID :- 714,
= 3, Option ID :- 715,
= 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180

Which of the following are forest products ?
(A) Gum

(B) Plywood

(C) Sealing wax

(D) Kerosene

(1 (A) (B), (©)
2 (®) (©). D)
(3)  (A), ©) D)
4 (&) (B), (D)



freafafed § A FR-F a7 @R & ?
(A) T’

(B) RIS

(C) A FH i A

(D) HTdA

m (
2
3 (A ©) @
4
Options:-
=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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